LR ‘ Expanding Triple Brackets
- .. <\
REVISE THIS

1 Expand and simplify (X + 1)(X + 2)(X + 5) [3 marks]

(oc4 1 oc+2) = X"+ Lt x4 )
= *+2x 4+ 1
(o + 2o + 2)(% +5)

= X+ St 341 S+ 20 +10
3
Answer :IJ ’r RDCL.‘-— I?l_\llo

2 Expand and simplify (X + 3)(X + 4)(X + 6) [3 marks]
e+ A+w) = 2+ G+ > + 12
= 2t Fx L

O3 +1D(o0+6)
= X+ T+ &2 b

e X VDo 4 SO L

3 Expand and simplify (X + 5)(x — 2)(x + 1) [3 marks]

(o +S)(A-2) = ~*-2(+Sx—10
= X"+ 310
(2?24 2x ~)0)(x+1)

T f4 2P+ 3432 110 x-ID
Answer xg+ L'—x:b"’-:)'z,"'lo

u . r@ @1stclassmaths

www.1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

D v Bl (6) @1stclassmaths ,
4 Expand and simplify (X — 3)(X — 4)(X + 2) (3 marks]
(5c—2)o-4) = x* -l —3x +(L
> >t 3z 412
(=321 x+2)
= x? + 2t —F 1 e H 2o+

3
Answer 1 "le" 29(4' 2""

5 Expand and simplify  (y —2)(y — 2)(y — 4) [3 marks]
(\xj—ﬂ( “1) T yv- 2\\3——’2_3 Y
= d "'—'L'rd + U

(9= by +lg-1)
= 33 -'L\'iz'-' Lkd"—\' \oy + Lkn - b
Answer &l ——qu' -I’le -—l b

6 Expand and simplify (X + 5)(X + 3)2 [3 marks]
(3c+S)(a+3) = x* + R+ Sa+4\S
= XX+ B 15

(a2 +8x +15) L+ 3)
= 124+ 207 1R + 242+ S xHS

Answer I:B‘\l\ | )L’L+ lq u’ —\_ qg
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7 Expand and simplify  (x + 10)(x — 6)? [3 marks]
(x+10Xx—6) = o — bx+10x-60
= X +4x-60
(x+ Y- 60) x - 6)

= 5 — bt + U I - 2U 26O x +260

Answer 1’5 — l:)f.:b —glP)L-\—ZQ:O

8 Expand and simplify (h-5)3 [3 marks]

(h— Al -9 = W= Sh-Ekh+ 25
= h* —10h+ 1S
(h*=10h + 28 )(h-S)
= W2 -Sh 1ok SOk 4 2S h-2S

W -\ShX+28k -12S

Answer

9 Expand and simplify (X + 12)(x — 2)(X + 2) [3 marks]
(oc42)o-2) = xP-2wr 4 1 -4
= x4

(x2-b)x412) = 134 ¥~z —4g

Answer 143-"' LI/?/ - (l'I "Ll’g
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12

Expand and simplify (2x + 1)(Xx-3)(x—-1) [3 marks]
(L) (x-2) = 22% -6 +x -2
= 2x¥-Sax— 3

(1x2-Sx - ()
= 2.9(""-— Lx - §>L1+g1-"' 21“'3

Answer 21,2 "7-11’ + 23(_ + 1

Expand and simplify (3p + 2)(2p + 1)(p + 5) [3 marks]
(3p+D(2p+N) = bp~+3p+lhp +1
=bplrIpt

(093 (ptS)
= 6>+ 0P + 7" « TS p+2prl0

Answer 6P3 + 3} Pl‘\" ?D:} P'\'lo

Expand and simplify (3x + 1)(2x — 1)(4x — 1) [3 marks]
(?:1""”(2.%—)) = 63(,7' - U +2x —|
= ot —a —|

(6 =) (4x-1)

= W n® — 6P =Gt o -l \

Answer Ql\’ 1,3 - \D.?Lq' - 31-\- \
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14

Show that (3x + 1)(3x —1)(2x + 3) can be written in the form

ax3 + bx2 + cx +d where a, b, ¢ and d are all integers. [3 marks]

(Bxn)(2a-1) = 9 -2 + e - |
= qat -\

(qx‘*-\\(lx +3) = B +d¥o- 21

Answer | g .I-?"k l})(:b"' ).x, "g

Show that (5x + 1)(X — 3)(Xx—2) — (X + 2)2 can be written in the form
ax3 + bx2 + cx +d where a, b, ¢ and d are all integers. [6 marks]

(Sxe ) 9-2) = S -15x 4 -2
= S~ -

(S acl'—ll\-x-—‘é)(x -2)
= Sx? —10x5= I 2% 4295 -2 +b
= Sx® -2Uxt+ 29% +6

(Hﬂ(im = X7+ Loy ot
= X2y b+l
S- U +2Sx+ b — - Lx-&

poer S =285 v Ux &L
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15 X+ADX+X-1)-X+2)(Xx=-2)x+5)=(X+a)(x+b)

Given that a > b, work out the values of a and b. [8 marks]

(xi-!.ﬂ(ptrl) = xt 2 rbx )
= X+ Fa 1L
(e D=1 ) = -3 - -l
= X"+ ySa-\1

(DL-HIDL‘?') = - 3 x -
= Gl
(- b\ (x+9) = X+ Sa¥ -bx - 20

igi'ﬁf—l— Sy -11 -—(17’ +Sav-lx —'103
= 2 46 4Sx-1L - X°—Sx" +t+20
* +9x +9

O+

R
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